

CONTACT LIST

Director of Shows Manager of Shows Show & Stall Office Priefert Practice Pen Trade Show Futurity Tickets Shianne Megel Emily Finch Cari Claxton Landy Hedlund Paula Abney Katie Udell 405-397-9077 580-630-2626 682-287-9298 279-800-7494 817-991-8497 612-599-3551

ON CALL VETERINARIAN

Burleson Equine Hospital: 817-295-2231

IN CASE OF EMERGENCY

During horse show hours, there is an EMT located on the grounds. The show office and announcers stand can reach the EMT at any time, but call 911 if emergency assistance is needed. An AED is also located at the show office and in various locations around the facility as noted on the map on the last page.

HOTELS

The Crescent Hotel Forth Worth Cultural District 817-661-1788 3300 Camp Bowie Blvd

SpringHill Suites Fort Worth University 817-878-2554 3250 Lovell Ave

Home2 Suites Forth Worth Cultural District 682-707-9475 1145 University Dr

AREA HOSPITALS

Baylor Scott & White 2.7 mi - approx. 11 mins 817-926-2544 1400 8th Ave

Harris Methodist 2.4 mi - approx. 11 mins 817-250-2000 1301 Pennsylvania Ave

Fort Worth Urgent Care

0.8 mi - approx. 4 mins 817-768-6455 1101 University Dr

SHOW OFFICE

All payments for stalls, shavings, and practice pen or flag works will take place in the show office. The Show Office is located at the northeast corner of the Exhibit Hall.

Pick up back numbers and make payments for stalls, shavings, and practice pen/flag works here. All payments received by the NCHA will be assessed a 3% nonrefundable transaction fee. The fee may be waived if payment is made via check, wire transfer, or ACH/E-check.

Show Office | Stall Office Contact Number: 682-287-9298

OFFICE HOURS

Saturday, November 9: 12:00 pm – 5:00 pm Sunday, November 10: 8:00 am – 5:00 pm November 11 – December 1: Daily from 7:00 am until the exhibit hall closes December 2: 9:00 am – show end December 5 – December 7: 9:00 am – show end

December 8: CLOSED - please conclude your business before the show ends on Saturday night.

BACK NUMBERS

Pick up back numbers for ALL competition horses in the show office. Back numbers will be issued with the horse's health papers AND a form of payment (open check/credit card/bank routing information) to cover miscellaneous show fees. Back numbers should be pinned to the saddle pad on the horse's left side before entering the show arena.

VIRTUAL CHECK-IN

Send your horse's health documents in before check-in to avoid the rush. All horses must have a Negative EIA (Coggins) dated no later than November 7, 2023, & Health Certificate dated not earlier than November 7, 2024.

HEALTHDOCS@NCHACUTTING.COM

STALL & SHAVINGS INFORMATION

Stall Price: \$250.00 per stall | Regular Shavings: \$12.00 | Queen Shavings: \$16.00

All stalls will be locked. Before they can be unlocked, a form of payment must be on file.

Cattle Settlers List

OPEN

R.L. CHARTIER LLOYD COX MORGAN CROMER EDDIE FLYNN SEAN FLYNN MATT GAINES CASEY GREEN CLAY JOHNSON MATT MILLER JOHN MITCHELL STEVE OEHLHOF KORY POUNDS BOYD RICE RONNIE RICE IONATHAN ROGERS AUSTIN SHEPARD JAIME SNIDER RUSS WESTEALL

NON-PRO

WALT ERWIN CHRIS JOHNSRUD PHIL RAPP TARIN RICE GRANT SETNICKA

AMATEUR

LANCE COOPER CADE SHEPARD CASS TATUM

WATT

TODD ADOLF MONTY BUNTIN SHANE CARLON BRADEY DAVIS CODY LAMONT TOSTEN PETERSON

Arena Entrances

COLISEUM

EXHIBITORS CAN CONTINUOUSLY ACCESS THE ARENA FLOOR THROUGH DOORS ON THE WEST SIDE OF THE COLISEUM BUILDING.

WATT ARENA

EXHIBITORS CAN ACCESS THE ARENA FLOOR THROUGH THE BACK ROLL-UP DOOR ON THE SOUTH SIDE OF THE WATT ARENA / MONCRIEF BUILDING.

TRADE SHOW HOURS

THE TRADE SHOW IS LOCATED IN THE EXHIBIT HALL AND WILL OPEN ON NOVEMBER 11. IT WILL OPEN DAILY AT 9:30 AM FROM NOVEMBER 11 THROUGH SATURDAY, DECEMBER 7.

PARKING

PARKING FEES FEES ARE DETERMINED BY THE WILL ROGERS MEMORIAL COMPLEX, FEES CONSIST OF \$15 PER DAY FOR A TRUCK AND TRAILER.



Saturday, November 23

7pm *Judging Contest Awards Non-Pro 1st Go Open 1st Go

Sunday, November 24

7pm Non-Pro 2nd Go Open 2nd Go

Wednesday, November 27

9am Unlimited Amateur 1st Go 25K Novice 1st Go 35K Non-Pro 1st Go 5K Novice Non-Pro 1st Go 2K Rider 1st Go

Thursday, November 28 - Saddle Silks

9am Unlimited Amateur Rider Introductions Unlimited Amateur 2nd Go 25K Novice & 35K NP Rider Introductions Unlimited Amateur Awards 25K Novice 2nd Go

35K Non-Pro 2nd Go 5K NNP & 2K Rider Introductions 25K Novice & 35K NP Awards

5K Novice Non-Pro 2nd Go 2K Rider 2nd Go 5K NNP & 2K Awards

7pm Non-Pro 3rd Go Open 3rd Go

Friday, November 29

9am 5K Novice 1st Go 50K Amateur 1st Go 25K Novice Non-Pro 1st Go 15K Amateur 1st Go

Saturday, November 30 - Saddle Silks

9am 5K Novice & 50K AM Rider Introductions 5K Novice 2nd Go 50K Amateur 2nd Go 25K NNP & 15K AM Rider Introductions *Weekend Rookie of the Year Award 5K Novice & 50K AM Awards 25K Novice Non-Pro 2nd Go 15K Amateur 2nd Go 25K NNP & 15K AM Awards

Open & Non-Pro Rider Introductions

6pm Non-Pro 4th Go Open 4th Go Open & Non-Pro Awards

Photos & Bios



Due Date: Nov 15, 2024

If you have any questions regarding your photos or bios, please contact marketing@nchacutting.com.

Text Updates

To receive updates regarding the World Finals and Futurity, text 'futurity' to 817-663-7571.

Practice Works

Priority live cattle works will be available at 5 pm on November 23rd & 24th.

PRACTICE PEN SCHEDULE

	Pavilion Flag	JJ Practice Pen	MP Cattle Works	MP Flag	Watt Blocks
Sunday, November 10	12pm-5pm				
Monday, November 11	6am-Beginning of Last Set	6am - 2nd to Last Set	8am - 2pm	8am-Beginning of Last Set	
Tuesday, November 12	6am-Beginning of Last Set	6am - 2nd to Last Set	8am - 2pm	6am-Beginning of Last Set	6am - 12pm
Wednesday, November 13	6am-Beginning of Last Set	6am - 2nd to Last Set	8am - 2pm	6am-Beginning of Last Set	6am - 12pm
Thursday, November 14	6am-Beginning of Last Set	6am - 2nd to Last Set	8am - 2pm	6am-Beginning of Last Set	6am - 12pm
Friday, November 15	6am-Beginning of Last Set	6am - 2nd to Last Set	8am - 2pm	6am-Beginning of Last Set	6am - 12pm
Saturday, November 16	6am-Beginning of Last Set	6am - 2nd to Last Set	8am - 2pm	6am-Beginning of Last Set	6am - 12pm
Sunday, November 17	6am-Beginning of Last Set	6am - 2nd to Last Set	8am - 2pm	6am-Beginning of Last Set	6am - 12pm
Monday, November 18	6am-Beginning of Last Set	6am - 2nd to Last Set	8am - 2pm	6am-Beginning of Last Set	6am · 12pm
Tuesday, November 19	6am-Beginning of Last Set	6am - 2nd to Last Set	8am - 2pm	6am-Beginning of Last Set	6am · 12pm
Wednesday, November 20	7am - Beginning of Last Set	8am - 2nd to Last Set	8am - 2pm	7am - Beginning of Last Set	7am - 12pm
Thursday, November 21	6am-Beginning of Last Set	6am - 2nd to Last Set	8am - 2pm	6am-Beginning of Last Set	6am · 12pm
Friday, November 22	6am-Beginning of Last Set	6am - 2nd to Last Set	8am - 2pm	6am-Beginning of Last Set	6am - 12pm
Saturday, November 23	6am-Beginning of Last Set	6am - 2nd to Last Set	8am - 2pm	6am-Beginning of Last Set	6am - 12pm
		WF Priority: 5pm-6pm			
Sunday, November 24	6am-Beginning of Last Set	6am - 2nd to Last Set	8am - 2pm	6am-Beginning of Last Set	6am - 12pm
		WF Priority: 5pm-6pm			
Monday, November 25	6am-Beginning of Last Set	6am - 2nd to Last Set	8am - 2pm	6am-Beginning of Last Set	6am · 12pm
Tuesday, November 26	6am-Beginning of Last Set	6am - 2nd to Last Set	8am - 2pm	6am-Beginning of Last Set	6am · 12pm
Wednesday, November 27	6am-Beginning of Last Set	6am - 2nd to Last Set	8am - 2pm	6am-Beginning of Last Set	6am - 8am
Thursday, November 28	6am-Beginning of Last Set	6am - 2nd to Last Set	8am - 2pm	6am-Beginning of Last Set	6am - 8am
Friday, November 29	6am-Beginning of Last Set	6am - 2nd to Last Set	8am - 2pm	6am-Beginning of Last Set	6am - 8am
Saturday, November 30	6am-Beginning of Last Set	6am - 2nd to Last Set	8am - 2pm	6am-Beginning of Last Set	6am - 8am
Sunday, December 1	6am-Beginning of Last Set	6am · 2nd to Last Set	8am - 2pm	6am-Beginning of Last Set	
Monday, December 2	7am - Beginning of Last Set	10am - 2nd to Last Set	8am - 2pm	6am-Beginning of Last Set	
Tuesday, December 3	6am-Beginning of Last Set	6am - 2nd to Last Set	8am - 2pm	6am-Beginning of Last Set	
Wednesday, December 4	6am-Beginning of Last Set	6am - 2nd to Last Set	8am - 2pm	6am-Beginning of Last Set	
Thursday, December 5	12pm - Beginning of Last Set	4pm - 2 Sets		8am - Beinning of Last Set	
Friday, December 6	7am - Beginning of Last Set	12pm - 2nd to Last Set		8am - Beinning of Last Set	
Saturday, December 7	12pm - Beginning of Last Set	4:30pm - 2 Sets		8am - Beinning of Last Set	

PRACTICE WORKS

Live Cattle Works: \$50.00 Flag: \$30.00 Track Cow: \$35.00

Blocks: \$600.00 - (Held in the Watt Arena)

2024 NCHA WORLD FINALS PAYOUT



PRESENTED BY THE NATIONAL CUTTING HORSE ASSOCIATION

In cooperation with the Broke Spur Ranch, the City of Fort Worth, the Fort Worth Chamber of Commerce, and the Fort Worth Conventions and Visitors Bureau



	Place	%	Go Round	Per Rounds	Show Total
	1	25%	\$9,566.00	5	\$47,830.00
Open	2	20%	\$7,652.80	5	\$38,264.00
Open	3	15%	\$5,739.60	5	\$28,698.00
Non-Pro	4	12%	\$4,591.69	5	\$22,958.40
	5	10%	\$3,826.40	5	\$19,132.00
	6	8%	\$3,061.12	5	\$15,305.60
	7	6%	\$2,295.84	5	\$11,479.20
	8	4%	\$1,530.56	5	\$7,652.80

Unlimited Amateur	Place	%	Go Round	Per Rounds	Show Total
\$50k Amateur	1	25%	\$2,430.13	3	\$7,290.40
*	2	20%	\$1,944.11	3	\$5,832.32
\$25k Novice	3	15%	\$1,458.08	3	\$4,374.24
	4	12%	\$1,166.46	3	\$3,499.39
\$25k Novice Non-Pro	5	10%	\$972.05	3	\$2,916.16
¢EKNI '	6	8%	\$777.64	3	\$2,332.93
\$5K Novice	7	6%	\$583.23	3	\$1,749.70
\$5k Novice Non-Pro	8	4%	\$388.82	3	\$1,166.46

	Place	%	Go Round	Per Rounds	Show Total
\$35k Non-Pro	1	25% 20%	\$1,469.08 \$1,175.27	3 3	\$4,407.25 \$3.525.80
\$15k Amateur	2 3 4	15% 12%	\$881.45 \$705.16	3 3	\$2,644.35 \$2,115.48
\$2k Ltd Rider	5	10%	\$587.63 \$470.11	3	\$1,762.90 \$1,410.32
	7 8	6% 4%	\$352.58 \$235.05	3	\$1,057.74 \$705.16

35.A Zero Tolerance Policy

Inhumane treatment or excessive training of a horse in any manner is strictly prohibited. Both owner and rider of any horse entered in an NCHA approved or sponsored event, by said entry, consents to the implementation of any action allowed by this Zero Tolerance Policy (Rule 35.A) by either show management or judge. This includes any act which the general public would perceive to constitute inhumane treatment or excessive training of a horse. Any act of inhumane treatment, mistreatment, or intent to mistreat a horse will be dealt with in the strongest possible manner as provided for in this Standing Rule. This Zero Tolerance Policy covers acts occurring not only in the show arena, but also those occurring anywhere on the show grounds-the warm-up area, practice pen or any other location.

The "Zero Tolerance" policy encompasses all of the following acts:

1. Excessive Training: Excessive Training includes: excessive jerking; cueing; whipping; use of lip wire or similar device; slapping or hitting a horse on the head, or any other part of the body, one time or more than one time, in any manner, either with the rider's hands, reins or any other object; using a bit in such a way that a horse is caused to bleed from its mouth or face; using any object held in the rider's hand to hit a horse; or any other act which may cause trauma or injury to a horse.

 Inhumane treatment: Inhumane Treatment is the exhibition of a lame or injured horse, or a horse that appears lame or injured, or a horse with any other health abnormality, which could thereby result in the horse's undue discomfort or distress.

3. Administration of injectable or oral medications or possession of any drug paraphernalia while in the show arena, practice arenas, alleys leading into the arenas or any other public areas of the show grounds is strictly prohibited unless administered in a life-saving situation which should only be done based on consultation with a veterinarian.
4. Any member observing activity that violates these rules should immediately report such conduct to the NCHA Executive Director and/or Show Management. Any violation of this rule may result in disciplinary action which may include fines, probation and/or suspension as provided for in the NCHA Rules.

5. Please consult the NCHA Rulebook to ensure that you are familiar with and are abiding by all NCHA rules relating to the welfare of the horse at all times, including Standing Rules 35 & 35A.



RV PARKING

RULES

- Payment due upon arrival
- Spaces in North Red Lot and Yellow Lot D include 30/50-amp power, water and sewer; Lot 1 includes
 water and electric only
- There are no drive-through spaces. (No connected trailers in back-to-back spaces.)
- Cash or Checks payable to City of Fort Worth at Will Rogers, or Fort Worth Convention Center at the convention center (no two-party checks allowed)
- · Mastercard, Visa, Discover and American Express credit cards are accepted
- No Reservations accepted
- Rent accepted only when living quarters are present
- Some outlets are in groups of four and eight, so some RVs may be parked three or four RV lengths from outlets
- · RV owners responsible for bringing own extension cords, hoses and supplies
- Electrical adapters are available through Will Rogers for \$20 per adapter
- No RV parking will be allowed in unmarked spaces or between barns
- · It is against the law to tamper with locked power boxes or to make unauthorized conversions

No dumping of gray or black water into the street is permitted. Violators will be ticketed.

PRICING

- Lot 1 (Swine Barn): 22 spaces (30 amps; 45 feet maximum). \$35 per night
- Lot 1 (Sheep Barn): 8 spaces (30 amps; 30 feet maximum). \$35 per night
- North Red Lot: 104 full-service spaces (30 or 50 amp). \$70 per night
- Yellow Lot D: 78 full-service spaces (30 or 50 amp). \$70 per night

To access power, contact the Will Rogers RV office directly and pay for service.

Contact Telephone

817-392-7469 (After-hours contact: 817-991-8497)

OFF-PROPERTY SERVICES

Propane/Gas

- Independent Gas Co.: 817-624-2679, 5620 Jacksboro Highway
- Propane Bottle Service: 817-626-5496, 5216 Jacksboro Highway
- U-Haul Propane Gas Co.: 817-246-4601, 1000 Highway 183

Service/Repairs

- RV Dr. "House Calls": 817-738-8655, On-Site Service
- Mac's RV & Auto Service: 817-443-3828, Highway 377 South
- Camping World: 866-838-5304, 10100 S. Freeway
- Express Mobile RV Service: 817-366-0416, On-Site Services

Supplies

- E B Enterprises: 817-626-1230, 205 Grand Avenue
- Camping World: 866-838-5304, 10100 S. Freeway
- United Recreation Center: 817-589-1459, 5100 Airport Freeway

Septic Tank Clean Out

Can Doo DFW: 817-563-6470

Additional RV Parks/Campgrounds

- Cowtown RV Park: 817-441-7878, 7000 IH-20, Fort Worth
- Fort Worth RV Park: 817-886-3748, 5319 Ruben Lane, Fort Worth
- Green Acres RV Park: 817-737-7542, 321 Isbell Road, Fort Worth
- North Texas Jellystone Park: 817-426-5037, 2301 S Burleson Blvd, Burleson
- Stockyards RV Park: 817-575-9506, 128 E. Exchange Ave., Suite 300
- Texan RV Ranch: 817-473-1666 1961 Lone Star Road, Mansfield
- Traders Village RV Park: 972-647-2331, 2602 W. Mayfield Road, Arlington

PRE ORDER AHEAD OF TIME FOR DISCOUNTED RATES NCHA-TRIPLE CROWN EVENTS!

RENTALS

Johnny Pilcher

Rental Department Manager johnny@metrogolfcars.com Metro Golf Cars, Inc. 4063 South Freeway Fort Worth, Texas 76110 Phone: 817-921-5491 x101 Cell: 682-478-8153



Metro Golf Cars has rental golf carts available in many configurations and are located at Will Rogers Memorial Complex in Cattle Barn #4. Please book in advance to ensure that you get the exact date requested and the best rate. Feel confident you are renting from the best; Metro Golf Cars is honored to be the recipient of the Elite Black and Gold Award from Club Car. With 350+ dealers in the US, only 20 are recognized as Elite Black and Gold. Contact Johnny today!